Sr Questions Answers Choice
1 A triangle having all sides equal is called: D. None of these
A (2,2)
) . . - B. (-2,2)
2 Mid point of the points (2,-2) and (-2,2) is: C. (0,0)
D. (-1,-1)
A (1,1)
) . . - B. (1,0)
3 Mid point of the points (2,2) and (0,0) is: C. (0.1)
D. (-1,-1)
A0
4 Distance between the points (1,0) and (0,1) is: B. 1
D.2
A0
5 Distance between points (0,0) and (1,1) is: B. 1
C.2
AV
6 In which Quadrant of the coordinate plane the Point (-4,3) lies: CB: IIIII
D. |
A1
. . - B.2
7 Two lines can intersect only at --------- point: c 3
D. 4
AV
8 In which Quadrant of the coordinate plane the Point (-5,-2) lies. g III|I
D. |
AV
9 Point (-8,-8) lies in the quadrant: CB: III|I
D. |
A3
10 One and only one line can be drawn through ------- points: (B: ‘é
D.2
A3
11 How many (1------- 1) correspondence can be established between two triangles: CB: ‘é
D.6
A (1,2)
. . . . Ch B. (2,1)
12 Which ordered pair satisfices the equation y = 2x: C.(22)
D. (0,1)
A2
13 If y=2x+1, x=2 then y is: B.3
’ : C. 4
D.5
Al
14 Point (-3,-3) lies in quadrant: CB; lIIII
D. IV
Al
15 Point (2,-3) lies in quadrant: B. I
C. i

O
<



